Balancing Worksheet #1

Please note that several of these equations are already balanced as written. The answers are in
this file and are several lines below the last problem. There are 50 problems

1. H. + Q; ———> H.O

26 . N + Ho —_—> NH4

z2. Sg + Oy ———> S0=

27. N. + O, ———> .0

3. HgO ———> Hg + O

z2g. CO; + H20 - CeH;1206 + [P

4. Zn + HC1l ———> ZnCl, + H.

29. SicCl., + H2C - H,S10, + HC1

5. Na + H.O ———> NaOCH + H.

30. H.PO, ———> H,B,O, + H,O

(3N CigHie + cl: ———> Cc + HC1

31. Cco, + NHy ———> OC (NH.) » + H-O

7. Si.H- + O, ———> Sio, + H.O

32. Al (OCH) s + H2S50, —_> 21:(S04) + H20
8. Fe + Q, ———> Fe, 0.

33. Fe (3504) 3 + KOH —_——> K280, + Fe (CH) s
9. C,HO. + O, ———> CO, + H.O

34. H.S0, + HT —— H.5 + I, + H.O
10. FeS, + Oy ———> Feo,05 + SOz

35. Al + FeO —> Al,04 + Fe

11. Fe,0.y + Hy ———> Fe + H.O

36. NaCOs + HC1 — > NaCl + H.0 + CQOsz
1z. K + Br, ———> KBr

37. Pa + (o298 —_—— P.0s
13. C_H, + O, —=—> CO, + H.C
38.  K.O + H.O —_— KOH
14. H:O» —_> H,O + Oz
39. Al + Oa —_ > Al1,05
15. C,Hig + o —_— Co, + H.O
40. Na,0. + H,O —_— NaOoH + O,
le. Si0O» + HE — > SiF, + H=0
41 . C + H.O —_ cO + H.
17. KCloO, —_—— KC1 + O,
42 . HaAsSO, —_— As.0. + H.O
18. KClo, — KC10, + KC1
43. Al,(SC.)s + Ca(CH), ——> Al(OH): + Caso.
19. P40 + H,O — H-PO,
44. FeCl, + NH,0H —_—— Fe (OH) 5 + NH,C1
20. Sk + Oz ———> SbuCe
45. Ca.(P0O4). + 6 5i0, ———> P,0,n + CasSiO.
21. CaHg + Qs —_—— COz + H.O
46 . N0 + H.O —_— HNO-
22. Fey0s + co ——> Fe + CO,
a7. al + HC1 ——> Alcls + Hy
23. PCl, + H,C ——— HC1 + HPOy
48 . H.BO. — H4B:sO1:
24. H-S + Cl: ———>
a9, Mg + N,

25. Fe + H2OC
50. NaCH + Cl. —_——>

+ H,O



